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2013 Set-A

Directions for the following 4 (four) items : ffeiRea 4 (ar) ween & fore fRder

Read the following passage and answer
the four items that follow. Your answers
to these items should be based on the
passage only. '
Passage

Financial markets in India have
acquired greater depth and liquidity over
the years. Steady reforms since 1991 have
led to growing linkages and integration of
the Indian economy and its financial
system with the global economy. Weak

global economic prospects and continuing
uncertainties in - the international

financial markets therefore, have had
their impact on 'the .emerging market
economies. Sovereign risk concerns,
particularly in the Euro area, affected
financial markets for the greater part of
the year, with the contagion of Greece's
sovereign debt problem spreading to India
and other economies by way of
higher-than-normal levels of volatility.
The funding constraints in
international financial markets could
impact both the availability and cost of
foreign funding for banks and corporates.
Since the Indian financial system is bank
dominated, banks’ ability to withstand
stress is critical to overall financial
stability. Indian banks, however, remain
robust, notwif;hstanding a decline in
capital to risk-weighted assets ratio and a
rise in non-performing asset levels in the
~recent past. Capital adequacy levels
remain above the regulatory
requirements. The financial market
infrastructure continues to function
without - any major disruption. With
further  globalization,  consolidation,
deregulation, and diversification of the
financial system, the banking business
may become more complex and riskier.
Issues like risk and liquidity management

and enhancing skill ' therefore assume

greater significance.

fFefoRea aRede & ufge 3Rk 3mr 3 @t
TR §E & Io% el | §9 §een & 39
IR 59 GReee W 8 3menRRa & anfer |

R

oot 3o @l § yRa & g aER 3
FETR Tear 3R oRer o @ & 1 1991 |
U wad guR! 7 favg srferan & @ wRdaa
srfraren 3R s Rt e ¥ siaeiamt
3R vHiERoT @Y 3M Feran ® | gHifoe siRiga
fahg aRt # gda fawa anfie wememsit sk
s faomm sffYadant & R g8 TR
sfeaemal W wWe g9 SIen & | W
shifEn ¥ 3 WaRl A, fadwax @ &7 4,
T B OR R AR D ApmEd 8 gifad
Aax, o 6 afera & 9= J afts 3
TR & W 9RA 3R 377 srefczawsit 7 e
W@ g R S R TR A i et @
yanfae fosam & |

sRigrr fanfa aeRt & e amend
daf 3k Frml & fore foeel Frefram & suereran
3R o At @ wafda @) w@ar of | i,
R faitg @ F Jot @ wpE @, 5 @
TG B A I @ & g3 fadiia Rear &
fore agd wewagef & | g, wRda &5, @
¥ adt § G ¥ SRew-aRa oReoRidl &
argard # firmae 3R IR-Freres-gof aRwf
& Rl ¥ gfs & TR Aoge W R & | G
T R S STaeadani § FW & gL
2 | frig e & nenfe WRaem fom fosi
T8 THEEc & uRared & <& & | 3w ok
@ AR e fevgamimRu, wued,
fafrmmr sk e & w dfeT ard sk
It e sik sifengel & wwar @ | 39
e # sifew ik @ear & yded @
guear § gfg R g 3R afte eyl @
S g |
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24, According to the passage, the financial

25.

26.

- adverse impact in recent years due to

the
including

emerging market
had

markets in

economies India the

1. weak global economic prospects.

2. uncertainties in the international
financial markets.

3. sovereign risk concerns in the Euro
area.

4, bad monsoons and the resultant
crop loss.

Select the correct answer using the code
given below :

(a) 1 and 2 only

(b) 1,2 and 3

() 2 and 3 only

(d) 2,3 and4

The Indian financial markets are affected
by global changes mainly due to the

(a)

increased inflow of remittances from
abroad.

(b) enormous increase in the foreign
exchange reserves.

(c) growing ~ global linkages and
integration of the Indian financial
markets. :

(d)

contagion of Greece’s sovereign debt
problem.

According to the passage, in the Indian
financial system, banks’ - ability to
withstand stress is critical to ensure
overall financial stability because Indian
financial system is ‘

(a) controlled by the Government of

India.
(b) less integrated with banks.
(c)

(d)

controlled by Reserve Bank of India.
dominated by banks.

24, TRa¥ B IER, Frekimed § ¥ Rrws oroT

25.

26.

g & auf ¥ fadiig aERl 7 9Ra Al 3=
IRA AR 3IAERIAT W 39T Fhigel THa
BreT § ?

gda df¥as 3nfis gearent |

IR facita aeRi Bt sifAfadan |
R &3t F wdvly e & WeR |

TRE AFYA 3R werasy B § . |
T fee T g B M AR W IR g ;.
(a) ®aa 13k 2

b 1,23R3

(c) &aa 23R 3

(d 2,334

Lol

frafRea & ¥ wpEa 5 oRU wRd
foa aeR favaer® oRadai & wnfaa
wE? :

(a) kel & ¥m o & w3 g¢ s B
DROT |

(b) o=l 7z Rord # sraftrs gfig & BRoT |

© @ g R i ok wda R
C IER & UHERT $ SR |

(@ T H OR FO.ITRT B GHAT B
BRT |

tRede & IgER, WRadg fadig @7 #, qof
frig ferar gfRaa &= & oo da &
@ P B EHAT HEEPl § i WRAK
faeira &= :

(a) ¥RA R gRI il ar & |

(b) & T T vHIPA & |

(c) 9Rdg Red da grr s dar & |
(d) W Jof o1 9y & |
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27.

Risk and liquidity management assumes
more importance in the Indian banking
system in future due to

1. further globalization.

2.  more consolidation and deregulation
of the financial system. '

3. further diversification of the
financial system.

4. more financial inclusion in the
economy.

Select the correct answer using the code
given below : -

(a) 1,2and3

(b) '2,3and 4

(¢c) 1land2only
(d) 3 and 4 only .

27.

fFrafafea § I ffas oRor Sifeq 3k a=ean
F yeea o "idg § yrag dfen 97 F it

e fireT waar § ?

1. 3R fte faggemiiexor |

2. ffa @3 &1 3k afe wwed sk
faframor |

3. foia a3 &1 3k sifte fafgeiasor |
4. Irfegawn ¥ 3R sfte i gumeE |
T fee e Fe B W I HE IR g

(a) 1,23R 3

(b) 2,33k 4
(¢) &act 13k 2
(d) Fad 33k 4
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Read the following passage and answer
the two items that follow. Your answers to
these items should be based on the
passage only. ’
Passage
Crude mineral oil comes out of the
earth as a thick brown or black liquid
with a strong smell. It is a  complex
mixture of many different substances,
each with its own individual qualities.
Most of them are combinations of
hydrogen and carbon in  varying
proportions. Such hydrocarbons are also
found in other forms such as bitumen,
asphalt and natural gas. Mineral oil
originates from the carcasses of tiny
animals and from plants that live in the
sea. Over millions of years, these dead
creatures form large deposits under the
sea-bed; and ocean currents cover them
with a blanket of sand and silt. As this
mineral hardens, it becomes sedimentary
rock and effectively shuts out the oxygen,
so preventing the complete decomposition
of the marine deposits underneath. The
layers of sedimentary rock become thicker
and heavier. Their pressure produces
heat, which transforms the tiny carcasses
into crude oil in a process that is still
going on today.
32. Mineral oil deposits under the sea do not
get completely decomposed because they

(a) are constantly washed by the ocean
currents.

(b) become rock and prevent oxygen
from entering them.

(c) contain a mixture of hydrogen and
carbon.

(d) are carcasses of organisms lying in
saline conditions.

33. Sedimentary rock leads to the formation
of oil deposits because
.(a) there are no saline conditions below
it. .

(b) it allows some dissolved oxygen to
enter the dead organic.matter below
it.

(c) weight of overlying sediment layers
causes the production of heat.

(d) it contains the substances that
catalyze the chemical reactions
required to change dead organisms
into oil.

fAefoiRRaa uRede @t afge 3k 3mt s arer @t
FeIen & IOX T | 37 FIen & 3md IR
39 YR WX & 3menRa 8 a@ifee |

aRess :
Fodl @S dd T A TS drEl Y &

T MG FIT AT HX ORA S 4 H R 30
2 | 9% 3o fafim ganef @1, oo wWis &
g fofdre o &, Sfew frsor & 1 3 oareff A
¥ i fafie arudl & srgeH 3k B
& TN € | $9 IR & ERSIPEA TR w4,
SR HETHART (1), SFR AT WP 1 S TG
30 ue ow € | wfe aa wg A @ 9
oY Sial & FAeRRl qur dtel ¥ Igfia
2 | ot aof & R, wggad & ga shat @
foemer @ ST B ST & dUT WE AR I7
g 3R e & IrEE ¥ @@ ot € | B
B & Y g7 |l sraerdt det # aea s
& 3R g w7 9§ sifcioH & TR AP &
&, Sy a1 % s W smEt @t of sees
ooz & ST & | 3rawrar et o W 3R A
qAT HRY & SN € | DT Ad FH FqAA A
¢, 3 g gaeRRl B T a0 F uRafda =
a1 2, ves R0 wfsan & sffa S anst ot Sy

& |
32, TYZ 9@ & Whsl da e Qfaar swefia

- @ & s |
(2) WY <t & PR g o € |
(b) ¥ 7 o & 3R sffaiee I A

FAAIG AR |

(¢ eRgem 3R e & frsor wfea a<a
O

(d) v Tt § W e A Sl B

TIRR & |

33. mﬁrﬁﬁﬂama‘sﬁﬁmﬁwm%

i

(a) T IR P wavia R T A |

(b) A 30 AR ST ga of9 gerdf § 3T gen
g8 SifeiisH 3 & € |

(¢) AR 3EERT Wdl &I HR FT 3aifed
AT & |

(d) 3T & geref & € S ga Siial @ e d
Rafd &= TG IEWS  IRAS
wfeframsit @1 38R0 = € |
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Directions for the following 7 (seven)
items : Z
Read the following two passages and
answer the items that follow each passage.
Your answers to these items should be
- based on the passages only.

Passage - 1

The law in many parts of the world
increasingly restricts the discharge of
agricultural slurry into watercourses. The
simplest and often the most economically
sound practice returns the material to the
land as semisolid manure or as sprayed
slurry. This dilutes its concentration in
the environment to what might have
occurred in a more primitive and
sustainable type of agriculture and
converts pollutant into fertilizer. Soil
microorganisms decompose the organic
components of sewage and slurry and
most of the mineral nutrients become
~available to be absorbed again by the

vegetation.

The excess input of nutrients, both
nitrogen and phosphorus — based, from
agricultural runoff (and human séwage)
has caused many ‘healthy’ oligotrophic
lakes (low nutrient concentrations, low
plant productivity with abundant water
weeds, and clear water) to change to
eutrophic condition where high nutrient
inputs lead to high phytoplankton
productivity (sometimes dominated by

bloom-forming toxic species). This makes

fraforRea 7 (@) geenen & fore [ -

ffiRRad at aRedal 4 & g @) ufgr 3ik
y® IR & IWia Qe 7T e & IR
& | 57 geiel & 3 IR gRedal ) &
3enfa g afee |

gRede - 1

fawa & 3o amit A B HY-BH ()
B STeEmt ¥ Big @Y dont ¥ foafa aR &
2 | 9 IR T W wa fpwraar ugha geref
@ Y R 31¢-3 @ s1ar fegara A wad
(=) & w7 F O % Y B} | 7 o
¥ S MU P T IR, A TP AUS Jfen
Ud URUNG YR B BN H & ol o1, Igud
@ 3Rk ¥ uRafda &= a1 & | g & gaweia
& o v o & e daes @ s
X d 2 3R 39 R Itk wfs ove
et & I # |

Pi-arfed st (3R Aa wd-57e1) & A
¥ AP Td BRWRY AT IR arel Gedt
& 3ftre e 3 sme T fAa-ghon el
(5 F= dve o, 9 URE SaEddr
3R 31t STeig TRUGaR e W@ S fqaAE
BT &) B guit qensit # s fan 8, SR =
ive e § 3@ UeewEd Il
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the water turbid, eliminates large plants
and, in the worst situations, leads to
anoxia and fish kills; so called cultural
eutrophicétion. Thus, importaﬁt
ecosystem services are lost, including the
provisioning service of wild-caught fish
and the cultural services associated with

recreation.

The process of = cultural
eutrophication of lakes has been
understood for some time. But only
recently did scientists notice huge ‘dead
zones’ in the oceans near river outlets,
particularly  those  draining large
catchment areas such as the Mississippi
in North America and the Yangtze in
China. The nﬁtrient-enriched_water flows
through streams, rivers and lakes, and
eventually to the estuary and ocean where
the ecological impact may be huge, icilling
virtually all invertebrates and fish in
areas up to 70,000 km? in extent. More
than 150 sea areas worldwide are now
regularly starved of oxygen as a result of
decomposition of algal blooms, fuelled
particularly by nitrogen from agricultural
runoff of fertilizers and sewage from large
cities. Oceanic dead zones are typically
associated with industrialized nations and
usually lie off countries that subsidize
their agriculture, encouraging farmers to
increase productivity and use more

fertilizer.

(@N-eft e FmiA ik el &
VeI & 1) aRonfid ge € | 39 S e
& oar €, &3 Uy faga & S & 9ur dad

e feifa # sHifaaar @) weladl & 7

& T 2 | a9 quela wae g @ |
39 TR 39-TeR el & duror Jani
3R TR ¥ wato TRERs Jat Wi,
Aol uiRda Aol geTa & S € |

TC WG W, el & G gower ot
wibar Fwell S @ | afed e @,
TERMRI A Al & gER & Wiy feem ga

anr, fRveR 3ot siRaet # FrRiRI vd 9=

# gl R faemer sermEer &5 ¥ R W,
T & ¥ &g T § | Uu-awl 3 9ga S,
e, AR ok sheli & Arenw ¥ varfed g
& U4 37 YEH! (G v AEER H ugadn
2 78 Wikei T e o B Tl ;TR
70,000 T e @ fawga a3 § Il
FpIod! td Aelerdl @ geg & Sl & | 3|
wwof fe & 150 & it o &=, FHiv-afea
e IR @ TR S Ao A
gL ¥ WHE A9 ¥ dare gs & sl
29 & IRUTTREST @MaR SiaRioH & dfd &

R | TR T & sl et ¥ R

TN TEG €, 9 T &F URE 39 <2 | o
g € 3 fpuml @1 3amesdr agm FR st
e B M S fr 7@ PR &g o
e TR Wefed a<a € |
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37.

38.

(e

According to the passage, why should
the discharge of agricultural slurry into
watercourses be restricted ?

1. Losing nutrients in this way is not a
good practice economically.

2. Watercourses do not contain the
microorganisms that can decompose
organic components of agricultural
slurry.

3. The discharge may lead to the
eutrophication of water bodies.

Select the correct answer using the codes
given below : :

(a) 1 only

(b) 2 and 3 only
(cy "1 and 3 only
(d) 1,2 and 3

The passage refers to the conversion of
“pollutant to fertilizer”. What is
pollutant and what is fertilizer in this
context ? :

(a) Decomposed organic component of

slurry is pollutant and
microorganisms in soil constitute
fertilizer.

Discharged agricultural slurry is
pollutant and decomposed slurry in
soil is fertilizer.

Sprayed slurry is pollutant and
watercourse is fertilizer.

None of the above expressions is

(d)
© correct in this context.

37, IR & ITIR, HU-HEA B FeEm F B

38.

waﬁqﬁammm'%u?.

1. 39 VBR & tual & @i anfis gfearon
¥ I vl T R

9. Sl ¥ ¥ gewsha 78 29 o pR-wdA
& ofF awl @ smuld & wad & |

3. ol % T OeY ¥ IS gEwr §
i & T § | .«

A fr e g @1 T e e IR g

(a) &act 1

(b) aar 23k 3

(¢) Faa 13Kk 3

(d 1,23R 3

oRede ¥ Wi e ¥ 3k § R

T H vgus F1 € 3R 3RS Far @ ?

(a) SEH & AUuled 39 o Wgus ar &
, 3k g § gewsia 3R® T € |

(b) BT T PR-BH TGS & AR g A
JUEfed o5 3RD & |

(c) Tissar ma1 o gue & 3R Semnt 3Rke
Bl

(@) 39 = 7 3 A7 F o5 o sk
& A # |
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39. According to the passage, what are the
effects of indiscriminate use of fertilizers ?

1. Addition of pollutants to the soil
and water. '

2. Destruction of decomposer
microorganisms in soil.

3. Nutrient enrichment of water
bodies.

4. Creation of algal blooms.
Select the correct answer from the codes

given below :
(a) 1,2 and 3 only

(b) 1,3 and4 only
(c) 2 and 4 only

(d) 1,2,3and 4
40, What is/are the characteristics of a water
body with cultural eutrophication ?
11. Loss of ecosystem services
'2. Loss of flora and fauna

3. Loss of mineral nutrients

Select the correct answer using the code
given below :

(a) 1 only

(b) 1 and 2 only
| (c) 2 and 3 only

(d) 1,2 and 3
t1. What is the central theme of this-
passage ? ‘
(a) Appropriate legislation is essential to
protect the environment.

(b) Modern agriculture is responsible for
the destruction of environment.

(c) Improper waste disposal from
agriculture can destroy the aquatic
ecosystems.

(d) Use of chemical fertilizers is
undesirable in agriculture.

39. WRad & IER, IR S LY T

g &1 & ?

1. P v s # gmet o g |

2. P ¥ owwed @ A gEwhal @
fammer | X '

3. Sl # dua @1 HadH |

4. Y& 43 & F

I e T Fe & wE @R A IR g
(a) &ad 1,23k 3

(b) Faa 1,33R 4

(¢) ad 23R 4

d 1,2,33R4

40. WEdr ghwor ¥ gEH  SToORE @

41.

e/ et @ /8
1. RS a0 & JaEi & e

2. arwld 3R wittsma & w1

S VG S

9 e T T @ wEm AR A IR g
(a) @1

(b) Faa 13k 2
(¢) ®ad 23R 3
(d 1,23R3

g uRede § gt fowg @ & »
(a) R & wem & fw '\q'ljﬁlﬁ

faftr-Fmfor sifarf 2 |

(b) smgfe Py wfwe & e & e
ITRErr € |

© R A i sufre fraro, seia
TRaT 3 faTe & a@ar & |

(d) o § wwafe sR@ @& 3w
3@ # |
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42,

43.

“be cured by physical help only. Until

Passage - 2
The miseries of the world cannot

man’s nature changes, his physical needs
will always arise, and miseries will always
be felt, and no amount of physical help
will remove them completely. The only
solution of the problem is to make
mankind pure. Ignorance is the mother of
evil and of all the misery we see. Let men
have light, let them be pure and
spiritually, strong and educated; then
alone will misery cease in the world. We
may convert every house in the country
into a charitable asylum, we may fill the
land with hospitals, but human misery
will continue . until man’s character
changes.

According to the passage, which of the

following statements is most likely to be

true as the reason for man’s miseries ?

(a) The poor - economic and - social
conditions prevailing in society.

(b) The refusal ,on the part of man to

change his character.

(c)

The absence of physical and material
help from his society.

(d) Ever increasing physical needs due

to changing social structure.

With reference to the passage, the
following assumptions have been made :

1. The author gives primary
importance to physical and material
help in eradicating human misery.

2. Charitable homes, hospitals, etc. can
remove human misery to a great
extent.

Which of the assumptions is/are valid ?
(a) 1 only

(b) "2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

42,

43..

Rede - 2

fava & g & Faa v wEEar gR
frerar 98 o1 W@ | T@ 9@ oA &
WYE 9 e, 390 Hifae smavadan wid
aeat @M, 3R @l @ war gua fear S
zgm, 3R Hifos e o B8 W " 37
i R T R [BA | GEET BN CHAA
e 98 ¢ {6 e anfa @ fage e man
ST | AT )% @B S g, 3R 3 ad
@l & oM, o & tad € | W @ e
firet, 3 fagre 3R anfens ww & wers vd Rféra
g AN g I g d I S
TS TR B GHIS-IRURYA A §&ct Fdbd @, &
ERA B IR ¥ W FHA €, R 54 aD
72 & aka oRafda = E‘ﬂﬂﬂﬁé’mg‘@
3FERa & & |

Rede & 3R, FrafoRea sl # @
D31, T & g & BRI S T A Fa@UD
e W & ?

(a), mﬂmgﬁmﬁaaﬂzmﬁa

T |
(b) T &1 31T IR aRafid $A A IR |
(c) Iu& TS ¥ Hifts sk wieRe werar

@ rguieifa |
(d) "RadRId Wi e S FROT
3FERd agal g Hifad smavasan |

iR & def #, Fr=folea aront &= w8

g

1. oEs AHA gaEl & 39eH | s sk
raRe Teddr @ wafie wew™ ar € |

2 el ST, aregEE, e A gl
B T T WA T R I T & |

3 aRom3 ¥ P/ da 28 ?
(a) a1

(b) &ac 2

() 13k 22

@ Far 1782
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Directions for the following 2 (two) items

58.

59.

Read the following passage and answer
the two items that follow. Your answers to
these items should be based on the
passage only.

Passage

‘ Ecological research over the last
quarter of the century has established the
deleterious effects of habitat
fragmentation due to mining, highways
and such other -intrusions on forests.
When a large block of forests gets
fragmented into smaller bits, the edges of
all these bits come into contact with
human activities resulting in the
degradation of the entire forests.
Continuity of forested landscapes and
corridors gets disrupted affecting several
extinction-prone  species of wildlife.
Habitat fragmentation is therefore
considered as the most serious threat to
biodiversity conservation. Ad hoc grants of
forest lands to mining companies coupled
with rampant illegal mining is
aggravating this threat.

What is the central focus of this passage ?
(a) Illegal mining in forests

(b) Extinction of wildlife

(¢) Conservation of nature

(d) Disruption of habitat

What is the purpose of maintaining the

continuity of forested landscapes and

corridors ?

1. Preservation of biodiversity.

2. Management of mineral resources.

3. Grant of forest lands for human
activities. .

Select the correct answer using the codes

given below:

(a) 1 only

(b) 1 and 2
(c) 2and 3
(d) 1,2 and3

et 2 (a) weanen & foe fAder -

58.

59.

faefeiaa aRese @) ufge 3k 3mr s aet @b
goien & 3% 5w | 37 geien & 39 I}
39 9= & & IrenRa e aifew |

uReda

T F anfEdr 25 auf & R fee o
nkfRifie s 3 @, emn Faor sk
g gl # @ I 9l 0¥l I Ay
nfafafral & ®RT gU 3mae @ved & wfaR
el @ e fear & | 59 Sal & U w8l
@z 3R B gwel # fowfea & s &, @
g 9t Tl & IR AT fhareamdl & HUh
% a1 o € 3R g9 wRom g & Hgof @
We¥ T 3UBY | gTeeTed -HeR oK aferari
BT A 9T & S & Y -l @
3 faeig-yaur sifadl wwifaa & & | s«
THR Sia-fafgerar wReor @1 wEd MR @R
3MATH-TWUS F 7T Il & | &= ST dr

T 4 & aed- aEE, Wy @ fRgw

IR-FIEH = 59 TR B AR g ®E |

39 UREE BT e-fag AT € P

(@) o § RS @

(b) F-IeT & e

(c) WPl T wReur

(d) 3mam & faues

Fr@Ied YA dAT MeART $T AAE §e

@ B T FAGH & ?

1. to-fafqear & w@=eor |

2. S daeEl &1 vEed |

3. #AMa fraream & faw @ 4 @&
AT |

T e T FT @ TN R FE IR g

(a) &ad 1

b 132

(¢) 233

(d 1,23R3’
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Directions for the following 8 (eight)
items :

The following eight items (items 67 to 74)
are based on three passages in English
to test the comprehension of English
language and therefore these items do
not have' Hindi version. Read each
passage and answer the items that follow.

English Passage - 1

Seven-year-old Jim came home
, from the park without his new bicycle.
“An old man and a little boy borrowed it,”
he explained. “They are going to bring it
back at four o'clock.” His parents were
upset that he had given his expensive new
bicycle, but were secretly proud of his
kindness and faith. Came four o’clock, no
bicycle. The parents were anxious. But at
4:30, the door bell rang, and there stood a
happy man and a boy, with the bicycle
and a box of chocolates. Jim suddenly
disappeared into his bedroom, and then
came running out. “All right,” he said,
after examining the bicycle. “You can have
your watch back !” '

67. When Jim came home without his bicycle,
his parents
(a) were angry with him.
(b) were worried.
(¢c) did not feel concerned.

(d) were eager to meet the old man and
the little boy.

68. Jim returned the watch to the old man
and the little boy because

(a) they gave him chocolates.
(b) his father was proud of him.

(c) he was satisfied with the condition
of his bicycle.

(d) they were late only by 3Q minutes.

fereiforRae 8 wal & forg UPSC 7 f2at srgare
el faam o | gefery, feferfa sians All
Inclusive IAS FTRT &1 TT € |

gfeeT - 1

AT auT f519 U= 7 Arsfepet & foqT UTeh 9
TR AT "TF ¢ AT 3R T BIC dASS
SV QYR foram 8, SWY AHsRm 'Y W 9N
o IIT TGN Iqh ATGT-RET 39 919
IRTST & foh I SN 0= 7Y 7€ wsfeher §
oft, <iftpT Sv IHHT AT IR FrarT o= T
®I F TG AT TR I7 Y, ATSfher T81 g
Hrar-frar fifaa 2 AfT 4:30 To1, A H
G o, SR T8l G QGer ST 3R b oIS
ATsipet 3R TTdeic & fEed & A1 TS A1 57
3T 3O B A AT SR AR wrTeT g3y
B &b 1S BTl "3NT AT TSt I o b
g

o e o= e o o

————

o9 fo1 31Ut |rsfeher & AT ) o, &t

I qrar-frar

(a) SO IRTST &

(b) Rifda &

(c) Rifda a&T &

(d) & 3T 3R BT TSP ¥ e & forg
NP &

5 7 g2 3t oiik BiC s i Tt dter &
P

(a) S8 I Tpele §F

(b) ST faT B SH U= T AT

(c) T8 319 rsfeper & Rerfer & e o

(d) ¥ PaeT 30 B RAJM A
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English Passage - 2

It was already late when we set out
for the next town, which according to the
map was about fifteen kilometres away on
the other side of the hills. There we felt
that we would find a bed for the night.
Darkness fell soon after we left the
village, but luckily we met no one as we
drove swiftly along the narrow winding
road that led to the hills. As we climbed
higher, it became colder and rain began to
fall, making it difficult at times to see the
road. I asked John, my companion, to
drive more slowly. After we had travelled
for about twenty kilometres, there was
still no sign of the town which was
marked on the map. We were beginning to
get worried. Then without warning, the
car stopped and we found we had run out
of petrol. .

69. The author asked John to drive more

slowly because
(a) the road led to the hills.
(b) John was an inexperienced driver.’
(c) the road was not clearly visible.
(d) they were in wilderness.
The travellers set out for the town
although it was getting dark because
(a) they were in a hurry.
-(b) the next town was a short distance
away and was a hill-resort.
they were in wilderness.
the next town was a short distance
away and promised a good rest for
the night.
The ‘travellers were worried after twenty
kilometres because
(a)
(b)

70.

(c)
(d)

71.

it was a lonely countryside. °

they probably feared of having lost
their way."

the rain began to fall.

it was getting colder as they drove.

(c)
(d)

TR - 2

ST &9 37T 97X & f1¢ Frpet, A Ugar Y R &
bl off, ST e & STAR TSIl P FAY AR
YT UsiE fpeiiiier g1 o | agt & oFm fop &
T & forg R frer SITem | wifa Bre & A
1S IFSRT B T, AfpT WHTT | &9 foir &
& firer Fifes 8 uBTReAl & R O aTelt
WP AR WP WX It § 9 W@ & | S~
O B9 SR I Y, IS gl TS IR arier
ST o7 | #9309 |reft S | TSt € ga
BT BET | T N fperiiex 6 I=r B &
a1 Y R R Sifha e &1 P AT
TEF o7 | g RiaT @9 oY off | Y T foedY
AT & PR B IR g9 T & UG @
BRI

AG® F S 1 1 Y iy ¥ TS T & forg
T FAIH

a) S® UBIREAl HY 3R WA ot

b) S U ST FEaR AT

c) VSH T BTN S T8 I & o
d IS

3TERT B & FTaSIS ITAT AR i AR et 78

Faife

a) dTeFY

b) 3T 2MER ATSI T WX AT 3R T IETSI-
R e

c) ATTAFY
d) 3T AER ARSI T R AT IR Ig I A
TR & foTT et SrTe fret wwapelY ofY

17 fpeiHIeR T o 91 TSI TR 81 7Y i
a)  IE TP AWM TTIOT & o

b) T2 RIS IRTT USH o BT S AT

c) SIRer 8N ot

d) S-SR T TS TaT ¥R o, 38 T ofT I ot

Separate explanation videos are available in English & Hindi
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English Passage - 3

A stout old lady was walking with
her basket down the middle of a street in
Petrograd to the great confusion of the
traffic and no small peril to herself. It was
pointed out to her that the pavement was
the place for foot-passengers, but she
replied, “I'm going to walk where I like.
We've got liberty now.” It did not occur to
the dear lady that if liberty entitled the
foot-passenger to walk down the middle of
the road it also entitled the taxi-driver to
drive on the pavement, and that the end
of such liberty would be universal chaos.
Everything would be getting in everybody
else’s way and nobody would get
anywhere. Individual liberty would have
become social anarchy.

72. It was pointed out to the lady that she
should walk on the pavement because she
was

(a) a pedestrian.
(b) carrying a basket.
(c) stout.
(d) an old lady.
73. The lady refused to move from the middle
of the street because
(a) she was not afraid of being killed.

(b) she felt that she is entitled to do
whatever she liked,

(¢) she did not like walking on the
pavement.

(d) she was confused.

74. The old lady failed to realise that
(a) she was not really free.
(b) her liberty was not unlimited.
(c) she was an old person.

(d) roads are made. for motor vehicles
only.

gReeT - 3

RT3 AR APR T & off, o
ITARITE TS B JET AT 3R S Y WaRT o7 |
S g 4T & et Ay & forg pearer
Tl | 379 B T e TE 871 99 Afger
T BT WSH b 1 F T BT IRIBR ST &
dr 9 <ol A @r Wt Heur o) et
3 ATt SRTSTpaT BMY | &R B &
et & IR F SO IR BIE ot HEN TS
Ugd UIQN | ARk e IS
IRTSIHAT & SATET |

AT BT FATAT TAT o S PeuTer UR AT
Y Fifp a8

a) U Ut A

b) CIBNY o T R&T ot

c) HIEreR

d) sdreft

e 7 i TSP W g W 7T B =T
iR

a) I8 AR O W 1) S¥at ofY

b) S & % a8 ot AT a8 FRA Y
TR &

c) S PeUTY IR AT TS el oA

d) ag Yy

T ST BT g & gor b

a) 9 INag H ¥aa T8l ot

b) SNHT FaaFar RAFT 78T o

c) 98 TP g Afen ot

d) HSh Hact HIeX aTe! &b foIQ g1
ST &

Practice these questions yourself after gap of 1 week. See official ansavl%r%y from here

1 HTE & IIARTS P TG 37 U] BT ST TG P SMMRIBTRG IR
https://allinclusiveias.files.wordpress.com/2024/02 /csat-official-answer-k&y-till-2022.pdf
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